• In the last example we used the Elimination Method to solve 2x - 3y = 7 2x - 2y = 6

In the last example we used the Elimination Method to solve 2x - 3y = 7 2x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

In the last example we used the Elimination Method to solve 2x - 3y = 7 2x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve. What if we're not so lucky?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve. What if we're not so lucky?

**Example:** Find the solution to:

$$2x - 3y = -11$$
$$3x + 2y = 3$$

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable!

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable.

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero.

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

 $3 \cdot (2x - 3y) = 3 \cdot -11$  $2 \cdot (3x + 2y) = 2 \cdot 3$ 

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

 $6x - 9y = 3 \cdot (2x - 3y) = 3 \cdot -11$ 2 \cdot (3x + 2y) = 2 \cdot 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

Example: Find the solution to:

 $6x - 9y = 3 \cdot (2x - 3y) = 3 \cdot -11 = -33$ 2 \cdot (3x + 2y) = 2 \cdot 3

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

 $6x - 9y = 3 \cdot (2x - 3y) = 3 \cdot -11 = -33$  $6x + 4y = 2 \cdot (3x + 2y) = 2 \cdot 3$ 

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

In the last example we used the Elimination Method to solve

2x - 3y = 72x - 2y = 6

We were lucky because when we subtracted blue from red on the left we had 2x - 2x = 0x. This is how we got an equation with just y we could solve.

What if we're not so lucky?

**Example:** Find the solution to:

 $6x - 9y = 3 \cdot (2x - 3y) = 3 \cdot -11 = -33$  $6x + 4y = 2 \cdot (3x + 2y) = 2 \cdot 3 = 6$ 

Here, if we add the left hand sides we get:

2x - 3y + 3x + 2y = 5x - y

This is not helpful, because it did not eliminate a variable! That is, we didn't get an equation with only 1 variable. Why did this work in the last example, but not this one? In the last one, the coefficients of x added to zero. How can we get that here?

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

$$6x - 9y = -33$$
$$6x + 4y = 6$$

We made this change, so that when we do red - blue we have:

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have:  $\frac{6x - 9y - (6x + 4y)}{6x - 3} = -33 - 6$ 

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3Now that we've solved for y = 3 we can substitute it in any

equation with x to solve for x

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3Now that we've solved for y = 3 we can substitute it in any equation with x to solve for x

Using the first equation, we get:

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3Now that we've solved for y = 3 we can substitute it in any equation with x to solve for x

Using the first equation, we get:

 $2x - 3 \cdot 3 = -11$ 

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3Now that we've solved for y = 3 we can substitute it in any equation with x to solve for x Using the first equation, we get:

 $2x - 9 = 2x - 3 \cdot 3 = -11$ 

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3Now that we've solved for y = 3 we can substitute it in any

Now that we've solved for y = 3 we can substitute it in any equation with x to solve for x

Using the first equation, we get:

 $2x - 9 = 2x - 3 \cdot 3 = -11$ 

Adding 9 to both sides gives: 2x = -2

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3

Now that we've solved for y = 3 we can substitute it in any equation with x to solve for x

Using the first equation, we get:

 $2x - 9 = 2x - 3 \cdot 3 = -11$ 

Adding 9 to both sides gives: 2x = -2And Dividing by 2 gives: x = -1

**Example:** Find the solution to:

2x - 3y = -113x + 2y = 3

By multiplying the first equation by 3 and the second by 2 we got the equivalent system:

6x - 9y = -336x + 4y = 6

We made this change, so that when we do red - blue we have: -13y = 6x - 9y - (6x + 4y) = -33 - 6 = -39

So, we have an equation with just y, which is: [-13y = -39]Dividing both sides by -13 gives: y = -3

Now that we've solved for y = 3 we can substitute it in any equation with x to solve for x

Using the first equation, we get:

 $2x - 9 = 2x - 3 \cdot 3 = -11$ 

Adding 9 to both sides gives: 2x = -2

And Dividing by 2 gives: x = -1

**Conclusion:** (-1,3) is the solution to the system